I VNPN=RENAYERS /DAY

AI=-FTLEXFHIE

a

BHETY.
BANE M,

Ad s Fr MR,

oag=015as (M) { Icp=TA, Ig|(eaq)=144)
BTy, v WL PR RI T Y=g 5 4

EMEET 427 -1 XFHAM

HF—TFTlEXS zFrFRAHAR

! Vepop= 1500V

"I-l:.'B{:l.rl::IEE.HI
( Top=TA, Ig=LTA)

2504542

ME D mm

R

. Afiad

155105 &FaE+0d
E

¥,
L [ -]
RAT# (Tc=250) e g
. n E % | ® = lﬂlﬂi_':’]zéé i Bt 200
39 8 x— 2 MEE Yeao 1500 v - :{ e Ea A
= B oxiad
T x5 MEE ¥eEn 00 ¥
Tz A—2 BRE VEBD L] ¥ Jg:f:c :_
A by LR OEAR) Ip 10 & E T Z-16E3a
T 7 AR [z icp 0 A
< = = L 1 = g 5 &
3 L ¥ F R e &0 w
=] ;- m i Ty 150 T
fi &= B 4 PP 58 = 160 -
|EeNE ( Te=257)
m g E A8 N E & &K R4 BE|RX| KF
2 v F #F Le HFER lewsn Vpg= 1500V, Ig=40 = T Lo =A
£ {3 # L» KA R 1 g Ve =8V, Lp=20 = ot 10| =4
TefF-adiF MBENLE" | Vipneo | Io=5mi, Ip=14 e | = = o
A & T & W = = *FE YeE= 5V, Ig=1a 8] 18] =
Se?s i FRBNEE |VoE(sar) | flo=TA, Ig=17A == = 3 ¥
A= -4y MANKE |Veg(ua) | lo=7A. Ip=174A - = 5 ¥
PR Y R RER ty Veg=10V, lg=0la | | - MHz
3 - ¥ F B R R Can Vea=10V, Ig=0, r=1MHs = Jz19 | — aF
::;;! EWaew litg Ipp=TA, Igp =144, f=64ul - 25 | as
1 I (E1) Fksm LT Ly=100aH, Cy = 3000 F — |@15 | oa
R smaw |wmem HE lep=TA, Igg=144 - 18 | 25 =
im2) | 14 Ipg=-28A, Ny =23850 = 01 | o2

781




HlL AL >F»yHMNEER (1 ¥ 79720808 )

28K52B k
=
E[ b 'IE
o o
[
: 5 ls
TEEn = E* ] =
= 2] =
—— L E
=
0 — - nr l'll-'r o
156as !

Cy=8000pF

() 2ol v F7 P20

1.2 sH -k
28

2wy SR

~—2REOE X

[HI+IB=[AHHI

digsSdt1=




2504542

2 zdfFr/RMBSEHRE( E0HAF )

P
F

+

ufF

o
|
H-E'I'.'IU'H'

o
Phus I:-n i =
-

20

16¥%

INFUT

1000 10040

T.O.T

s
1000

_-+
170aF

[ =|
DUTY CYCLE = 14 IE

3

25C117T3-¥

288478

Iy

Ip | ~<—AMAWE o / In

et Al

-

Ipg : L7 s AKEREE

108

Yarg | T




